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Part A: Grammar 

Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3), and (4). 

Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 
 

1- These years of waiting passed excruciatingly to both of us. I wish this spring … an end to all the agonies of 
such relentless separation. 
1) has brought   2) would bring 3) brought 4) bring 

2- I told … paint that room, and now look what’s happened; the paint has dripped all over the place and the 
color clashes with the furniture. 
1) she not to 2) you not to 3) her don’t 4) you don’t 

3- When the teacher asked Maria about her studies, she replied that she … the new lesson since noon. 
1) has reviewed  2) was reviewing  
3) had been reviewing  4) has been reviewing 

4- He said that he … in England for ten years; no wonder he could speak the language so well. 
1) had been 2) has been 3) was 4) would be 

5- He said it was mandatory that every child … the same educational opportunities. 
1) has  2) have 3) had 4) would have 

6- Which of the following sentences is grammatically WRONG? 
1) I wondered if what I had heard was true. 
2) My young daughter often asks me why the sky is blue. 
3) He thought he would go to the library to study. 
4) I asked him what kind of movies did he like. 

7- Despite what the commercial had said, these bars of chocolate don’t taste good. I wish I … them. 
1) hadn’t bought 2) wouldn’t buy 3) didn’t buy 4) haven’t bought 

8- A: John has failed his examination. What do you think he should do? 
B: I recommend that … a second chance. 
1) he is given 2) he be given 3) he has given 4) he has been given 

9- Your addiction to eating is getting dangerous; I wish you … before it made you deadly sick. 
1) will quit 2) would quit 3) had quit 4) quit 

10- She asked him … her and he agreed. 
1) that he helped  2) if he could help 
3) whether could he help  4) whether he had helped 
 

Part B: Vocabulary 
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3) and (4). 

Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 
 

11- May the universe bless you fully in surprising and joyful ways and we hear lots of your successes in the … 
New Year 
1) glorious 2) ludicrous 3) ridiculous 4) envious 

12- Among all the examples of information technology, computers have attracted the most attention of scientific 
circles since they can … up and process a large amount of information in a short time. 
1) annoy 2) bend  3) stock  4) thwart 

13- If we try, most of us can do our part to diminish the amount of greenhouse gases that we put into the 
atmosphere. “Diminish” is the opposite of “…”. 
1) enhance  2) recycle  3) decrease  4) lessen 
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14- In … to the other two layers, the crust, the layer we live on, is very thin. 
1) addition  2) comparison  3) return  4) general 

15- Employers hire children for many reasons. One of them is the inability of children in … unions to protect 
their rights. 
1) updating 2) preventing 3) establishing 4) succeeding 

16- When the International Space Station is completed, it will be nearly 80 meters long and have a … of more 
than 455,000 kg. 
1) term 2) shape 3) phase 4) mass 

17- Online means using a computer or other information devices, … by means of a network, to access 
information and services from another computer or information device. 
1) commented 2) confused 3) compared 4) connected 

18- I accepted that extremely hard job only because of … chances offered by the top officials. 
1) promotion 2) procedure 3) pattern 4) proportion 

19- At most colleges and universities, facilities for learning and recreation are … to students. 
1) artificial 2) accessible 3) financial 4) irrelevant  

20- Good parents should … all their attempts to training their children. 
1) avoid 2) replace 3) dedicate 4) allow 

21- Some athletes take drugs to improve the quality and efficiency of their … in great competitions.  
1) performance 2) attraction 3) friendship 4) interchange 

22- Completing such big projects is not … successful without the support of the government. 
1) artificially 2) monetarily 3) continuously 4) fortunately  

23- Now that he is sixty, he’s decided to … his business and devote all his time to farming in the country. 
1) summarize 2) appreciate 3) expand 4) relinquish 

24- It really … me when he constantly cancels the meeting without informing us. 
1) assumes 2) forestalls 3) agitate 4) estimates 

25- Mother Teresa had fifty charity projects, including work among people living in …, children’s homes, and 
clinics. 
1) craters  2) valleys  3) caves  4) slums 
 

Part C: Word Order 
Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer sheet. 

 

26-  
1) For more eighty years, scientists have been argued over whether life exists on the planet Mars. 
2) For over eighty years, scientists have been argued over how life exists on the planet Mars. 
3) For more than eighty years, scientists have argued over whether life exists on the planet Mars. 
4) For more than eighty years, scientists have been arguing over while life exists on the planet Mars. 

27-  
1) Every fuel has their own particular temperature at which it begins burning. 
2) Every fuel have its own particular temperature at which it begins burn. 
3) Every fuel have their own particular temperature at which they begin to burn. 
4) Every fuel has its own particular temperature at which it begins to burn. 

28-  
1) Large cities impose their living conditions on the people living in them.  
2) People impose their living conditions on the large cities in living them.  
3) The living conditions in their large cities impose them on people living.  
4) People in the living large cities impose their living conditions on them.  

29-  
1) “Foot”, originally known as measurement of the unit, is based on the average foot of human size. 
2) The unit of measurement known as a “foot” is originally based on the average size of the human foot. 
3) “Foot” is originally based on the foot size of the average human, known as the unit of measurement. 
4) The measurement of the unit, “foot”, known to be based on the average size of the human foot originally. 
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30-  
1) Found in supermarkets, the usual array of cleaners regarded as the most difficult ink stains commonly will not 

give in to stains to remove. 
2) Commonly regarded as the usual array of cleaners, ink stains found in supermarkets will not give in to the most 

difficult stains to remove. 
3) The most difficult stains to remove commonly, ink stains will not give in to the array of found in supermarkets 

cleaners regarded as the usual.  
4) Ink stains, commonly regarded as the most difficult stains to remove, will not give in to the usual array of 

cleaners found in supermarkets. 
 

Part D: Language Function 
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing one of 
the choices (1,2,3) or (4). Then mark the correct choice on your answer sheet. 

 

A: I can’t believe there’s such a/an ...(31)… of traffic outside. 
B: No wonder! It is because tomorrow is Norooz. The …(32)… is always busy at this time of the year. 
31- 1) amount                            2) stream                 3) deal                    4) mass 
32- 1) inner city                         2) run-down building    3) living conditions      4) no-go area  
A: We went to my grandparents’ house on the first day of Norooz! 
B: Good for you. You must have enjoyed a lot. 
A: I’m afraid not. My sister had a very …(33)… which made my traditional grandparents really shocked. 
B: Then what did your grandparents tell her? 
A: They gave her a/an…(34)… for having such an unusual fashion, but she stood firm. Now my sister and my 
grandparents are …(35)… .  
33- 1) striking appearance   2) droopy mustache       3) chubby cheek          4) youthful appearance 
34- 1) earful                          2) shot                            3) hard time                     4) credence 
35- 1) out of danger              2) in the red                    3) not on speaking terms 4) home and dry 
A: My little sister was just born 2 hours before the turn of the year. Look at her picture.  
B: Unbelievable! She …(36)… to your father. 
A: You mean she has taken after my dad? 
B: Exactly. It is pretty natural for kids to look like their …(37)… members. 
36- 1) goes beyond imagination           2) bears a striking resemblance  

3) reveals her true character        4) swallows her pride  
37- 1) immediate family    2) happy couple        3) close friend                4) studio flat 
A: I gave her …(38)… when I heard her talking about me with her friends. 
B: Well done. She must have …(39)… not to stick her nose where it does not belong. 
A: I’m sure she has. However, if she repeats it a second time, I will …(40)… . 
38- 1) a piece of my mind    2) the sack   3) a bumpy ride    4) the silent treatment 
39- 1) been on high alert           2) learned her lesson    

3) spread herself too thin     4) been left holding the baby 
40- 1) beat her up          2) have the final say    

3) drive her round the bend  4) know my stuff 
 

Part E: Cloze test 
Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice on your 
answer sheet. 

 

I’m in my final term at school, and I’ll be going to university after the summer. …(41)… my friends have 
decided to take a gap year, so they won’t start their …(42)… for twelve months. They are convinced that they 
will …(43)… useful experience before becoming a student. I’m not so sure. 

My sister went travelling for six months two years ago. She backpacked around Australia and traveled home 
…(44)… Asia. She …(45)… a good time, but she didn’t really learn …(46)… . Quite the opposite - she thought it 
was a holiday, and she …(47)… out of the habit of doing routine things. She got up late every morning, lay on 
the beach all day, and went …(48)… every night. 
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She didn’t do any part-time work, and …(49)… she didn’t learn any new …(50)… . She wanted to help 
people, so she was going to do some …(51)… work, but she didn’t …(52)… contact with any charities while she 
was away. The trip also cost her a fortune- she doesn’t …(53)… in traveling light, so she bought …(54)… 
everywhere that she stopped.  

I hope my schoolmates enjoy their trips, but I’m looking …(55)… to starting university; the sooner you start, 
the sooner you finish. 

41- 1) Most of 2) A few 3) Several 4) None of 
42- 1) employment 2) study 3) lesson 4) career 
43- 1) achieve 2) win 3) take 4) gain 
44- 1) by 2) for 3) via 4) of 
45- 1) got 2) had 3) acquired 4) evaluated 
46- 1) something 2) nothing  3) anyone 4) anything 
47- 1) got 2) come 3) was 4) became 
48- 1) danced 2) to dance 3) dance 4) dancing 
49- 1) nor 2) so 3) but 4) yet 
50- 1) qualifications 2) training 3) skills 4) qualities 
51- 1) voluntary 2) part-time 3) well-paid 4) temporary 
52- 1) put 2) make 3) do 4) give 
53- 1) approve 2) like 3) enjoy 4) believe 
54- 1) memoirs 2) souvenirs 3) memories 4) remembrances 
55- 1) forward 2) back 3) for 4) up 

 

Part F: Reading Comprehension  
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best choice 

(1,2,3) or (4). Then mark the correct choice on your answer sheet. 

 

PASSAGE 1 
Humanity’s primal efforts to systematize the concepts of size, shapes, and number are usually regarded as the 

earliest mathematics. However, the concept of number and the counting process developed so long before the 
time of recorded history (there is archaeological evidence that counting was employed by humans as far back as 
50,000 years ago) that the manner of this development is largely conjectural. Imagining how it probably came 
about is not difficult. The argument that humans, even in prehistoric times, had some number sense, at least to 
the extent of recognizing the concepts of more and less when some objects were added to or taken away from a 
small group, seems fair, for studies have shown that some animals possess such a sense. 

With the gradual evolution of society, simple counting became imperative. A tribe had to know how many 
members it had and how many enemies, and a shepherd needed to know if the flock of sheep was decreasing in 
size. Probably the earliest way of keeping a count was by some simple tally method, employing the principle of 
one-to-one correspondence. In keeping a count of sheep, for example, one finger per sheep could be turned 
under. Counts could also be maintained by making scratches in the dirt or on a stone, by cutting notches in a 
piece of wood, or by tying knots in a string. 

Then, perhaps later, a variety of vocal sounds was developed as a word tally against the number of objects in 
a small group. And still later, with the refinement of writing, a set of signs was devised to stand for these 
numbers. Such an imagined development is supported by reports of anthropologists in their studies of present-
day societies that are thought to be similar to those of early humans.  

56- What does the passage mainly discuss? 
1) The efforts of early humans to care for herds of animals 
2) The development of writing 
3) The beginning of mathematics 
4) Similarities in number sense between humans and animals 
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57- The word “conjectural” in line 4 is closest in meaning to … . 
1) complex  2) based on guessing 
3) unbelievable  4) supported by careful research 

58- Why does the author mention animals in line 7? 
1) To support a theory about the behavior of early humans 
2) To identify activities that are distinctly human 
3) To illustrate the limits of a historical record of human development 
4) To establish that early human kept domesticated animals 

59- The pronoun “it” in line 9 refers to … . 
1) evolution 2) counting 3) tribe 4) shepherd 

60- Which of the following conclusions is supported by the passage? 
1) Counting processes did not develop until after writing became widespread. 
2) Early counting methods required herds of animals. 
3) Mathematics has remained unchanged since ancient times. 
4) Early humans first counted because of necessity. 

PASSAGE 2 
Everybody talks about “the dream I had last night”. In fact, dreams and dream interpretations have been 

acknowledged from the beginning of recorded history. Biblical Joseph interpreted a dream of Egypt’s Pharaoh 
that saved the country from famine. Freud used dreams in an attempt to solve people’s psychological troubles. 
Artists/writers Federico Fellini, John Keats, August Strindberg, Nathaniel Hawthorne, Ingmar Bergman, and 
Anais Nin have all used dreams in their works. 

“Dreams are a vehicle for knowledge not open to the waking mind”, declared Robert Adam, University of 
Washington assistant professor of English, who taught a class on dreams and literature last year. “In some 
ways, our dreams may be smarter than we are”, he continued. “Our waking conscious mind is culturally 
contaminated and constricted by things like media and current morality.” 

Nineteenth-century writers- the Romantics- were fascinated by dreams and encouraged people to look 
inward and be more receptive to irrationality, according to Adam. They believed that the greatest minds should 
have a negative capability – the ability to be in doubt, mystified, or uncertain without any irritable reaching 
after fact or reason. 

Ignoring the Romantics, 20th-century psychologists, psychiatrists, and doctors have come up with some 
startling facts about dreams.   

Everyone has some idea of the nature of his dreams, but what are the dreams of others like? Two medical 
studies done in the United States by Dr. Calvin Hall and Fred Snyder proved that most people’s dreams are not 
very exciting; the majority of the dreams reported were of a familiar nature to the dreamer and quite 
reasonable. 

Dreams are not in lonesome places, the studies show. In 95 percent of the dreams analyzed by Hall, another 
person besides the dreamer was present. Also, the majority of the dreams included unpleasant emotions.      

61- It can be concluded from the passage that … . 
1) dreams have always been considered as important matters 
2) dreams used to be important for human beings  
3) many people do not believe in their dreams 
4) the Romantics were the only writers who believed in dreams 

62- According to the passage, which of the following is NOT true? 
1) Many artists and writers have used dreams in their works. 
2) Joseph’s interpretations did actually come true. 
3) Dreams have been used to solve people’s psychological problems. 
4) According to Robert Adam our dreams are restricted by things like media and current morality. 
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63- The word “acknowledged” in line 2 is closest in meaning to … . 

1) recognized 2) compared  3) interrupted 4) objected  

64- The Romantics … . 

1) were the followers of Adam  

2) studied dreams the same way as Freud 

3) considered dreams as useless matters 

4) considered a negative capability of the mind as a necessary power 

65- According to the passage, the majority of the dreams … . 

1) are formed of some exciting happenings  2) do not consist of any unpleasant emotions  

3) include somebody other than the dreamer   4) are in crowded places 

PASSAGE 3 
In any country, the energy and resources directed to educating parents to plan the size of their families 

depend heavily on the interest of political leaders and on the support they get from the people who form public 

opinion. Given an active interest on the part of all groups, it might well be possible to adopt a program that 

would reduce the birth rate with unprecedented speed. Without the backing of influential groups, political 

leaders will have to move cautiously lest they arouse strong opposition. One means of attaining wide public 

support is to promote an understanding of the population situation as it bears on the prospects of the individual 

family as well as of society as a whole for health prosperity and prestige. Since even these questions are heavily 

loaded with emotion, it is doubtful that such an understanding can be based on the work and ideas of foreigners. 

For this reason, it seems important that the nations equip their own scholars to study their problems with 

modern techniques. The stimulation of such work and its interpretation for the informed public should do much 

to secure the necessary political basis for the intelligent development of population policy. At the level of 

leadership, these problems arise as questions of population. Among the mass of the people they arise as 

questions of family health and well-being of education and the improvement of living conditions. For these 

personal reasons, the public will welcome the programs for family planning even though the governmental 

interest derives from the larger needs for the economy. Basic research on population trends and their causes, if 

it is to be effective in stimulating leadership, needs to be done by trained local personnel. In wide areas of the 

world, particularly those areas in which population problems are most acute, there is a major lack of social 

scientists let alone social scientists trained in the field of population studies. 

66- The underlined word “cautiously” in line 5 is closest in meaning to … . 

1) rapidly  2) intentionally 

3) emotionally  4) carefully 

67- The resources directed to educating people in family planning depend on … . 

1) the individual families  2) the research work  

3) the availability of the means for birth control  4) the interest of the political leaders 

68- The larger needs for the economy are primarily the concern of the … . 

1) individual families  2) social scientists 

3) government   4) family planners 

69- The public will support family planning more if … . 

1) it reduces the birth rate with unprecedented speed 

2) it benefits the national economy  

3) it is shown to benefit them personally 

4) modern techniques are used 

70- What must be specially promoted to gain the public support of family planning? 

1) An understanding of the population situation  2) New research trends in population control 

3) Self-education in resource development  4) A more realistic approach to birth control 
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 (جواد مؤمني)  »2«ي  گزينه»» - 1

براي هر دوي ما سپري  باري مشقت هاي انتظار به صورت اين سال«جمله:  ةترجم
  .»آوردامان  هاي اين جدايي بي كاش اين بهار پاياني بر تمام رنج شد. اي
 ةاي در زمان آينده از فعل آينده در گذشت براي بيان جمله» كاش اي«بعد از نكته: 
   كنيم. ) استفاده ميwould /could + فعل ةاد(شكل س ساده

----------------------------------------------  

 (علي شكوهي)  »2«ي  گزينه» - 2

فعل متعدي است و بعد از آن مفعول مورد نياز است؛ در نتيجه،  ”tell“نكته: 
كه در آن ضمير فاعلي آمده است، نادرست است. در ضمن، در نقل » 1« ةگزين
را قبل از شكل  ”not to“مستقيم، در صورت منفي بودن فعل امر،  مري غيرقول ا
  »).4«و » 3«هاي  بريم (دليل نادرستي گزينه فعل به كار مي ةساد

----------------------------------------------  

 (ميرحسين زاهدي)  »2«ي  گزينه» - 3

» 1«هاي  جه گزينهگذشته است، در نتي (”she replied“)پايه  ةنكته: زمان جمل
در جمله نشان  ”since“نادرست هستند.  ،كنند كه به زمان حال دلالت مي» 4«و 
حال كامل استمراري بوده است كه در  ،قول مستقيم نقل ةدهد كه زمان جمل مي

گردد كه  تر برمي مستقيم، فعل به يك زمان عقب قول غير نقل ةتبديل آن به جمل
   اشد.ب كامل استمراري مي ةآن گذشت

----------------------------------------------  

 (شهاب اناري)  »2«ي  گزينه» - 4

مستقيم است كه شكل مستقيم آن به  قول خبري غير نقل ،نكته: ساختار جمله
  صورت زير بوده است:

He said, “I have been in England for ten years.” 
   شود. ل كامل به گذشتة كامل تبديل ميقول غير مستقيم، زمان حا دقت كنيد كه در نقل

----------------------------------------------  

 (جواد مؤمني)  »2«ي  گزينه» - 5

(ضروري)،  ”mandatory“نكته: در كاربرد وجه التزامي، بعد از صفات 
“important” ،(مهم) “desirable”  (مطلوب، پسنديده) و صفات ديگر با معاني
آمده و سپس يك جمله با فعل ساده (براي تمام  ”that“ ةمشابه، ابتدا كلم

آيد. دقت كنيد كه در اين ساختار، زمان فعل قبل از اين صفات  اشخاص) مي
   ها ندارد. بعد از آن ةتأثيري در شكل فعل جمل

----------------------------------------------  

 (عبدالرشيد شفيعي)  »2«ي  گزينه» - 6

 قول غير سؤالي به نقل ةقول مستقيم جمل ه در تبديل نقلنكته: دقت كنيد ك
  شود. مستقيم، جمله از حالت سؤالي خارج مي

  »:4« ةشكل صحيح گزين
“I asked him what kind of movies he liked.” 

----------------------------------------------  

 (سعيد بابايوسفي)  »1«ي  گزينه  - 7

اي در زمان گذشته  براي بيان جمله» اي كاش«ه معني ب ”I wish“نكته: بعد از 
   شود. استفاده مي ”.could/ would + have + p.p“كامل و يا  ةاز فعل گذشت

 زاده) (عليرضا يوسف  »2«ي  گزينه - 8
 ,recommend, demand“پيشنهادي از قبيل التزامي و نكته: بعد از افعال 

urge, …” ز فاعل، فعل به صورت مصدر كه جمله قرار گيرد، بعد ا در صورتي
  رود. به كار مي ”to“بدون 

---------------------------------------------- 

 (مرجان شيخي)  »2«ي  گزينه - 9
 ةاي در زمان آينده از فعل آينده در گذشت براي بيان جمله ،»اي كاش«نكته: بعد از 

  شود. ) استفاده مي+ would/couldفعل  ةساده (شكل ساد
----------------------------------------------  

 (بهروز مرادآبادي)   »2«ي  گزينه -10

هاي  دهنده قول پرسشي غيرمستقيم است، بنابراين به يكي از ربط نكته: جمله، نقل
“if”  و يا“whether” صورت  ها ساختار جمله بهدهندهنياز داريم. بعد از اين ربط

با توجه به مفهوم جمله » 4«گزينة + فعل + فاعل) خواهد بود. …خبري ( 
  نادرست است. 

----------------------------------------------  
 (جواد مؤمني)  »2«ي  گزينه» -11

بخش براي شما  انگيز و مسرت هاي شگفت دنيا به شيوه باشد كه«جمله:  ةترجم
ال شما را در س هاي از موفقيت  سرشار از خير و بركت باشد و ما (خبر) بسياري

  .»جديد پرشكوه بشنويم
  مضحك  )2  پرشكوه )1
     حسود )4  مسخره )3

----------------------------------------------  
 (جواد مؤمني)  »2«ي  گزينه» -12

  ترين توجه ها بيش اطلاعات، رايانه  آوري هاي فن در بين تمام نمونه«جمله:  ةترجم
وانند مقدار زيادي از اطلاعات را در ت ها مي اند، زيرا آن محافل علمي را جلب كرده

  .»زماني كوتاه ذخيره و پردازش كنند
  خم كردن  )2  اذيت كردن )1
     جلوگيري كردن )4  ذخيره كردن، انبار كردن )3

----------------------------------------------  
 )رضا كياسالار(  »1«ي  گزينه -13

م سهم خود را در كاهش ميزان تواني اگر تلاش كنيم، اكثر ما مي«جمله:  ةترجم
» كاهش دادن“ «diminish” .كنيم، انجام دهيم اي كه وارد جو مي گازهاي گلخانه

  »است.» افزايش دادن“ «enhance”متضاد 
 بازيافت كردن  )2  افزايش دادن )1
    كاهش دادن )4  كاهش دادن )3

----------------------------------------------  
 لي شكوهي)(ع  »2«ي  گزينه» -14

اي كه ما روي آن زندگي  ديگر، پوسته، لايه ةدر مقايسه با دو لاي«جمله:  ةترجم
  .»ضخامت است كنيم، خيلي كم مي

  :”in“ها با  معناي گزينه
 در مقايسه با  )2  علاوه بر )1
    عموماً )4  در عوض )3

----------------------------------------------  
 ب)(سپيده عر  »2«ي  گزينه» -15

كنند. يكي از  كارفرماها به دلايل متعددي كودكان را استخدام مي«جمله:  ةترجم
    »هايي براي حمايت از حقوقشان است. كودكان در تشكيل اتحاديه  ها ناتواني آن
  جلوگيري كردن، ممانعت كردن) 2  روز كردن به )1
    موفق شدن) 4  تشكيل دادن )3

  زبان تخصصيهاي تستي  سؤال   پاسخ
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 (ميرحسين زاهدي)  »2«ي  گزينه» -16
المللي تكميل شود، طول آن در  كه ايستگاه فضايي بين هنگامي«مله: ج ةترجم

  »كيلوگرم خواهد داشت. 455000متر خواهد بود و جرمي بيش از  80حدود 
  شكل) 2  واژه )1
    جرم) 4  فاز، مرحله، هلال (ماه) )3

----------------------------------------------  
 (بهرام دستگيري)  »2«ي  گزينه» -17

به مفهوم استفاده از يك رايانه يا ساير وسايل اطلاعاتي،  ”online“«جمله:  ةترجم
يا   منظور دستيابي به اطلاعات و خدمات از رايانه يك شبكه، به ةوسيل متصل شده به

  »اطلاعاتي ديگري است. ةوسيل
  گيج كردن) 2  اظهارنظر كردن )1
    وصل كردن) 4  مقايسه كردن )3

----------------------------------------------  
 (حميد محمدي)   -18

هاي ارتقاء (شغل)   خاطر فرصت اندازه سخت را فقط به من آن كار بي«جمله:  ةترجم
  »شده توسط مقامات بالا پذيرفتم. پيشنهاد

 راه، روش )2  ءارتقا )1
    نسبت  )4  الگو )3

----------------------------------------------  
 طلب) (ندا باران   -19

و تفريح در  يادگيريتسهيلات جهت  ،ها ها و دانشگاه در اكثر كالج«جمله:  ةرجمت
  .»استدانشجويان  دسترس

 ، موجوددسترس) در 2  ) مصنوعي1
    ، نامربوط) غيرمرتبط4  ) مالي3

----------------------------------------------  
 (جواد مؤمني)   -20

خود را صرف آموزش كودكان  يها تمام تلاشبايد والدين خوب «جمله:  ةترجم
  .»نمايندخود 

    ) اجتناب كردن1
  )“with”ي (با حرف اضافه ) جايگزين كردن2
 )“to”ة (با حرف اضاف كردن دادن، وقف  ) اختصاص3
    ) اجازه دادن4

----------------------------------------------  
 (عبدالرشيد شفيعي)  »2«ي  گزينه» -21

منظور بهبود كيفيت و كارآيي عملكردشان در  اران بهبرخي ورزشك«جمله:  ةترجم
  »كنند. هاي مهم داروهايي مصرف مي رقابت

 ) جذابيت2  ) عملكرد، اجرا1
    جايي ) تعويض، جابه4  ) دوستي3

----------------------------------------------  
 (علي شكوهي)  »2«ي  گزينه» -22

 ون حمايت دولت از نظر ماليهاي بزرگي بد چنين پروژه تكميل«جمله:  ةترجم
  »نيست. موفق

 ) از نظر مالي2  طور مصنوعي ) به1
    ) خوشبختانه4  وقفه بيپيوسته، طور  به) 3

----------------------------------------------  
 (ميرحسين زاهدي)  »2«ي  گزينه» -23

حالا كه او شصت ساله است، تصميم گرفته كارش را رها كند و «جمله:  ةترجم
 »ام وقتش را به كشاورزي در روستا اختصاص دهد.تم
  ) قدر دانستن2  كردن ) خلاصه1
    ) رها كردن4  دادن ) گسترش3

 (رضا كياسالار)  »2«ي  گزينه» -24
كند، واقعاً  كه او دائماً بدون اطلاع دادن به ما جلسه را لغو مي اين«جمله:  ةترجم

 »دهد. مرا آزار مي

  ) جلوگيري كردن2  ) فرض كردن1
   ) تخمين زدن، برآورد كردن4  ذيت كردن، آزردن) ا3

----------------------------------------------  

 (ميرحسين زاهدي)  »2«ي  گزينه» -25
خيريه داشت كه شامل كار بين افرادي كه در  ةمادر ترزا پنجاه پروژ«جمله:  ةترجم
  .»شد مي كردند، ها زندگي مي ها و درمانگاه خانه يتيم ،ها زاغه

  دره  )2  آتشفشان ةدهان )1
  فقيرنشين ةزاغه، محل )4  غار )3

----------------------------------------------  
 فرد) (اميد يعقوبي   -26

  نادرست هستند.» 2«و » 1«هاي  نكته: وجه جمله معلوم است، بنابراين گزينه
     نادرست است.» 4« ةدر گزين ”while“ ةدهند كاربرد ربط

----------------------------------------------  
 فرد) (اميد يعقوبي  »4«ي  گزينه -27

رود و فعل و ضمير در  اسم قابل شمارش مفرد به كار مي ”every“نكته: بعد از 
، فعل دوم به صورت ”begin“جمله نيز بايد با آن تطابق داشته باشند. بعد از فعل 

  د.رو به كار مي ”to“و يا مصدر با  “فعل”ing +اسم مصدر
----------------------------------------------  

 (نسرين خلفي)  »1«ي  گزينه -28
جا زندگي  را بر افرادي كه در آن شان شهرهاي بزرگ شرايط زندگي«جمله:  ةترجم
  »كنند. تحميل مي  كنند، مي

توان ضمير  پيرو وصفي در حالت معلوم باشد، مي ةنكته: در صورتي كه جمل
 به كار برد. “دار-”ingو فعل را به صورت  موصولي را حذف كرد

Large cities impose their living conditions on the 
in them. who livepeople   

                                                                           living   
صحيح » 1« رتيب صحيح قرارگرفتن كلمات، گزينةبا توجه به مفهوم جمله و ت

   است.
----------------------------------------------  

 (مرجان شيخي)  »2«ي  گزينه -29
، در اصل بر مبناي سايز »فوت«گيري معروف به  واحد اندازه«جمله:  ةترجم

 »متوسط پاي انسان است.

  صحيح است.» 2« ةنكته: با توجه به مفهوم و ساختار جمله، گزين
----------------------------------------------  

 (مسعود پيربداقي)  »4«ي  گزينه -30
ها براي از بين بردن به  هاي جوهر كه عموماً دشوارترين لكه لكه«جمله:  ةترجم

هاي معمولي يافت شده در  كننده پاك ةآيند، تسليم مجموع حساب مي
 »شوند. ها نمي سوپرماركت

  صحيح است.» 4« جه به مفهوم و ساختار جمله، گزينةنكته: با تو
---------------------------------------------- 

 (عبدالرشيد شفيعي)  »2«ي  گزينه» -31
  است.» جريان ترافيك«به معناي  ”a stream of traffic“آيي هم

----------------------------------------------  

 (عبدالرشيد شفيعي)  »2«ي  گزينه» -32
  ي ) ساختمان قديم2  ) مركز شهر  1
  خطر ة) منطق4  ) شرايط زندگي   3
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 (عبدالرشيد شفيعي)  »2«ي  گزينه» -33
  ) سبيل بلند  2   كننده آور، شوكه ظاهر زننده، شوك) 1
 ) ظاهر با طراوت 4  ) لپ تپل      3

----------------------------------------------  

 (عبدالرشيد شفيعي)  »2«ي  گزينه» -34
  :”give“ ها با فعل معناي گزينه

  ) امتحان كردن2  ) تذكر دادن   1
  ) معتبر دانستن4  ) سخت گرفتن       3

----------------------------------------------  

 (عبدالرشيد شفيعي)  »2«ي  گزينه» -35
  ) مقروض  2  ) دور از خطر   1
  ) موفق 4  ) (با هم) صحبت نكردن      3

----------------------------------------------  

 (عبدالرشيد شفيعي)  »2«ي  گزينه» -36
  يه بودن     ب) بسيار ش2  ) فراتر از تصور بودن  1
 ) غرور خود را شكستن4  ) باطن خود را نشان دادن  3

----------------------------------------------  

 (عبدالرشيد شفيعي)  »2«ي  گزينه» -37

  بخت     ) زوج خوش2  ي يك   ) بستگان درجه1
  ) اتاق يك نفره4  صميمي       ) دوست3

----------------------------------------------  

 (عبدالرشيد شفيعي)  »2«ي  گزينه» -38
 :”give“ها با فعل معناي گزينه

  ) اخراج كردن        2  ) نارضايتي خود را بروز دادن1
  ) صحبت نكردن4  ) دچار دردسر كردن      3

 ----------------------------------------------  

 (عبدالرشيد شفيعي)  »2«ي  گزينه» -39
  ) درس گرفتن   2  ) گوش به زنگ بودن    1
 ) در مشكلات تنها رها كردن4  ) خود را به زحمت انداختن  3

----------------------------------------------  

 (عبدالرشيد شفيعي)  »2«ي  گزينه» -40

     ) حرف آخر را زدن 2 پاره كردن  ) تكه1

    ) كار خود را بلد بودن4  ) عصبي كردن     3
----------------------------------------------  

 مقدم) (روزبه شهلايي  »2«ي  گزينه» -41

  نكات مهم درسي:
  هستند: هاي پيشرو وابسته) كلمات زير از 1

   neither كدام هيچ
   several چندين
   all همه    
 any هيچ ،هر

    most اغلب  
    half نصف  

   every / each هر  
  another / other ديگر

   both هر دو
 eitherدو تا   از يكهر   

some تعدادي  

 much / many / plenty / a lot of  زياد

  آيد. ها اسم مي پس از تمام اين
  .All cars have wheels  ها چرخ دارند. ماشين ةهم

  .I have no money  من هيچ پولي ندارم.
  ?Did you put any salt in the soup  پ نمك ريختي؟آيا تو در سو

 ضميردر واقع  ،توانند بدون اسم هم به كار روند هاي پيشرو بالا مي همه وابسته )2
 noneها به ترتيب  كه شكل ضميري آن otherو  every ،noغير از  باشند؛ به

، ران(ديگ others(همه) و  allيا  everyoneيا  everythingيك)،  (هيچ، هيچ
  باشند؛ مثال: موارد ديگر) مي

 »بله، اما خيلي نه.» «خواهم، هيچ پولي داري؟ مقداري پول مي«

   “I need some money. Do you have any?” “Yes, but not much.” 
 »هيچ.» «چند تا سيگار داري؟«

  “How many cigarettes do you have?” “None.”  
 برخي ندارند.اغلب مردم تام را دوست دارند ولي 

  Most people like Tom, but some don’t.  
  .Everyone likes him  همه او را دوست دارند.

هم آورد؛ در اين  »اسم+  of«توان پس از اين كلمات  ) در نقش ضميري مي3
) يا كلمه اشاره … و my ،your، بايد صفت ملكي (ofحالت همراه اسم پس از 

this ،that  ياthe ل:آورد؛ مثا  
 اي داشتند. برخي افراد در ميهماني رفتار بسيار دوستانه

  Some of the people at the party were very friendly. 
 .None of this money is mine  هيچ مقداري از اين پول مال من نيست.

   هايشان در اين هتل، حمام خود را دارد. هر يك از اتاق

Each of their rooms in this hotel has its own bathroom. 
  توجه كنيد: »3«به شكل صحيح گزينة  توجه:

I’m in my final term at school, and I’ll be going to university 
after the summer. Several of my friends have decided to take a 
gap year, so they won’t start their studies for twelve months.  

 
----------------------------------------------  

 مقدم) (روزبه شهلايي  »2« -42
 ) تحصيل، پژوهش2  ) كار، استخدام1

  ) شغل4  ، درس) دوره3
----------------------------------------------  

 مقدم) (روزبه شهلايي  »2«ي  گزينه» -43
 ه شدندن) بر2  آوردن، نائل شدن ) به دست1

  ب كردن) كس4  ) گرفتن3
  دقت كنيد. ”gain experience“آيي  به هم

----------------------------------------------  

 مقدم) (روزبه شهلايي  »2«ي  گزينه» -44
 ) براي2   ه وسيلة) ب1

  ) از4  ، از راه) از طريق3
----------------------------------------------  

 مقدم) (روزبه شهلايي  »2«ي  گزينه -45
 ) داشتن2  فتن) گر1

 ارزيابي كردن) 4  كسب كردن) 3
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 مقدم) (روزبه شهلايي  »2«ي  گزينه» -46
  مهم درسي: تانك
1 (some  (به معني چند) وany  (به معني هيچ) غالباً همراه اسامي قابل شمارش

(و مشتقاتش  someطور كلي  روند. به جمع يا اسامي غيرقابل شمارش به كار مي
(و مشتقاتش مثل  any) در جملات مثبت و somethingيا  somebodyمثل 

anyone  ياanything در جملات منفي (يا با مفهوم منفي) يا سؤالي به كار (
  روند؛ مثال: مي

  .Jane has bought some new shoes   جين چند كفش نو خريده است.
  .They don’t have any children  ها بچه ندارند. آن

 مفهوم منفي)اع كرد. (كه چيزي بگويد امتن او از اين
  She refused to say anything.  

 او بدون هيچ پولي خانه را ترك كرد. (مفهوم منفي)
He left home without any money. 

 ?Has anybody seen Tom كس تام را ديده است؟ هيچ

 little” ،without ،hardly ،“neverبه عبارت ديگر در جملاتي كه شامل  توجه:
  شود.استفاده مي “”anyد از هستن …و 
توان هر نوع اسمي [قابل شمارش ( مفرد يا جمع) و  (به معني هيچ) مي no) پس از 2

 nothing ،nobody ،no one ،noneو مشتقاتش  ”No“غيرقابل شمارش] آورد. 
  كنند؛ مثال: آيند و جمله را منفي مي در جملات مثبت مي nowhereو 

 كس به ديدارم نيامد. هيچ وقتي در بيمارستان بودم،
No one (or Nobody) came to visit me when I was in hospital. 

 هيچ سيستم حكومتي بدون نقص نيست.
No system of government is perfect. 

----------------------------------------------  

 مقدم) (روزبه شهلايي  »2«ي  گزينه» -47
  ) آمدن2  ) گرفتن1
  ) شدن4  ن) بود3

    دقت كنيد.» ترك عادت«به معناي ”get out of a habit“به تركيب 
 ----------------------------------------------  

 مقدم) (روزبه شهلايي  »2«ي  گزينه» -48

هاي تفريحي، ورزشي و ... مي توانيم از براي نشان دادن فعاليت ”go“نكته: بعد از 
  ن اين دسته عبارتند از:تري اسم مصدر استفاده كنيم. مهم

Go fishing / skating / sailing / skiing / jogging / running / swimming 
 ----------------------------------------------  

 مقدم) (روزبه شهلايي  »2«ي  گزينه» -49

  ) بنابراين2  ) نه، همچنين نه1
  ) هنوز، ولي4  ) اما3

 --------------------------------- -------------  
 مقدم) (روزبه شهلايي  »2«ي  گزينه -50

  ) آموزش2  ، شايستگي ) ويژگي1
  ) خصيصه، كيفيت4  ) مهارت3

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »2«ي  گزينه» -51

  وقت ) نيمه2  ) داوطلبانه1
  ) موقت4  ) با درآمد خوب3

--------------------------- -------------------  

 مقدم) (روزبه شهلايي  »2«ي  گزينه -52
     است.» ارتباط برقرار كردن«به معناي  ”make contact“نكته: تركيب 

 مقدم) (روزبه شهلايي  »2«ي  گزينه -53
  ) دوست داشتن2  ييدكردنأ) ت1
    داشتن داشتن، اعتقاد ) باور4  مند شدن) لذت بردن، بهره3

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »2«ي  گزينه -54

  ) سوغات، يادگاري2  شرح حال) 1
  ) يادبود4  ه) خاطر3

----------------------------------------------  
 مقدم) (روزبه شهلايي  »2«ي  گزينه» -55

به معناي  ”look forward to something/somebody“نكته: اصطلاح 
  است.» كسي بودن / يزيچشم در انتظار چ«

 ----------------------------------------------  
  (مسعود پيربداقي)  »3«ي  گزينه -56

 »كند؟ عمدتاً در چه موردي بحث مي ،متن«جمله:  ةترجم
  »آغاز رياضيات«

 ----------------------------------------------  
  (مسعود پيربداقي)  »2«ي  گزينه -57

ترين  نزديك 4(حدسي، فرضي) در خط  ”conjectural“ كلمة«جمله:  ةترجم
  »(بر مبناي حدس) دارد. ”based on guessing“معني را به 

 ----------------------------------------------  
  (مسعود پيربداقي)  »1«ي  گزينه -58

 »برد؟ از حيوانات نام مي 7چرا نويسنده در خط «جمله:  ةترجم
  »هاي نخستين مورد رفتار انسان اي در براي تأييد نظريه«

 ----------------------------------------------  
  (مسعود پيربداقي)  »3«ي  گزينه -59

  »(قبيله) اشاره دارد. ”tribe“به  9در خط  ”it“ضمير «جمله:  ةترجم
 ----------------------------------------------  

  (مسعود پيربداقي)  »4«ي  گزينه -60
 »شود؟ هاي زير توسط متن تأييد مي گيري يك از نتيجه كدام« جمله: ةترجم

   »هاي نخستين ابتدا به خاطر نياز به شمارش پرداختند. انسان«
 ----------------------------------------------  

  فرد)(اميد يعقوبي  »1«ي  گزينه -61
وان به عن ياها هميشهؤگيري كرد كه رتوان از متن نتيجهمي:«جمله  ةترجم

   »اند.درنظر گرفته شده يموضوعات مهم
 ----------------------------------------------  

  فرد)(اميد يعقوبي  »4«ي  گزينه -62
  »يك از (موارد) زير صحيح نيست؟برطبق متن، كدام«جمله:  ةترجم

ها چيزهايي از قبيل رسانه ي وسيله بهما  رؤياهاي ”Robert Adam“طبق نظر «
   »شوند.امروزي محدود مي و اخلاقيات

 ----------------------------------------------  
  فرد)(اميد يعقوبي  »1«ي  گزينه -63

ترين معني را به  در سطر دوم نزديك”acknowledged“كلمة «جمله:  ةترجم
“recognized” دادن) دارد.(شناختن، تشخيص«   

 ----------------------------------------------  
  فرد)(اميد يعقوبي  »4«ي  زينه -64

نويسندگان رمانتيك توانايي منفي ذهن را به عنوان يك قدرت «جمله:  ةترجم
  » گرفتند.ضروري در نظر مي

 ----------------------------------------------  
  فرد)(اميد يعقوبي  »3«ي  گزينه -65

   »شوند. پرداز مي برطبق متن، اكثر روياها شامل شخصي به جز رويا«جمله:  ةترجم
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   16  صفحه:  منحصراً زبانمنحصراً زبان  )اسفند 17(آزمون غيرحضوري آزمون غيرحضوري   

  (سپيده پورديهيمي)   »4«ي  گزينه -66
در سطر پنجم كه زير آن خط كشيده شده  ”cautiously“كلمة « جمله:  ةترجم

  »(با دقت، با احتياط) دارد. ”carefully“ترين معني را به  است نزديك
 ----------------------------------------------  

  ي)(سپيده پورديهيم   »4«ي  گزينه -67
منابع اختصاص يافته به آموزش افراد در تنظيم خانواده به مصلحت «جمله:  ةترجم

  » رهبران سياسي بستگي دارد.
 ----------------------------------------------  

  (سپيده پورديهيمي)   »3«ي  گزينه -68
  »نيازهاي كلان اقتصاد عمدتاً نگراني دولت است.«جمله:  ةترجم

 ----------------- -----------------------------  
  (سپيده پورديهيمي)   »3«ي  گزينه -69

شخصاً به نفع عموم (مردم) است،  خانوادهاگر ثابت شود كه تنظيم «جمله:  ةترجم
   »ها از آن بيشتر حمايت خواهندكرد. آن

 ----------------------------------------------  
  (سپيده پورديهيمي)   »1«ي  گزينه -70

از چه چيزي بايد به طور خاص پشتيباني شود تا (بتوان) حمايت «مله: ج ةترجم
  »عمومي از تنظيم خانواده را به دست آورد؟

 »وضع جمعيتاز  يشناخت«
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